MATHS

BOOKS - PSEB (PUNJABI MEDIUM)

B33 m3 fsgdiefafsd

.z = 033G f(z) = |z| € Bar3g37 3 fegrg

gl

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YsTWSKQ77GGU

Z.Bﬁf(w):{w+5 z <1

T — 5 x> 1
oa" Yfgsfi3 25, ffa HBar3a @86 J7?

o Watch Video Solution

3. Gua e € 79 a3 fAg 3 IS 86

f(z) = kSIr33 I

o Watch Video Solution



https://dl.doubtnut.com/l/_YsTWSKQ77GGU
https://dl.doubtnut.com/l/_VXgppkrrkKt8
https://dl.doubtnut.com/l/_LQm0nPkX7Xkc

4. fifg g9 fa emsfea Afanet Bt 33AHT 286

f(z) = z,3da eH3fex Hitmr € Bt 8379 J|

° Watch Video Solution

5 856 f(z) =2’ + 2> —1 € Bar3as 3

fegrg adl

o Watch Video Solution



https://dl.doubtnut.com/l/_P3gdvo0oCs2j
https://dl.doubtnut.com/l/_mxGzS1GyKVQ8

G.ﬁf(x)zé,m#owwu%?mmf

1 BIr37g3T 3 fegg A9|

o Watch Video Solution

7. fovs 893 28 & Bar3a3T 3 fegg da:

xz + 3 z <0
T — 2 x >1

fie) = {

° Watch Video Solution



https://dl.doubtnut.com/l/_68dXgCSDxLWx
https://dl.doubtnut.com/l/_4sVEdmHsxYu1

8. foHs f8i3 286 f 2 A'd e fig & U3 Jd|

xr + 2 r <1
flz) =<0 x =1
r — 2 x> 1

o Watch Video Solution

9. foHs fous e8s € ®arsas 3 fegag aa:

{a:—l—Z z <0

fl@) = —x + 2 x>0

o Watch Video Solution



https://dl.doubtnut.com/l/_xbBh6lLtya6I
https://dl.doubtnut.com/l/_PconjdqW3qan

10. foHs f&U3 e@8& ©t Bar3a3T 3 fegad aa:

T x>0
T x <0

o Watch Video Solution

11. €I 6 fa g9 ggue! %6 Bdr37d J

o Watch Video Solution

12. fHg 93 fd I9d UfaHd @B6 B39 Jer J

o Watch Video Solution



https://dl.doubtnut.com/l/_jcMmxwgKZwFW
https://dl.doubtnut.com/l/_qnJcKznkpaL7
https://dl.doubtnut.com/l/_RQhILM8tPP4j

13. sine 286 €1 Bdr37d3T 3 fegd d9|

o Watch Video Solution

14.fHaad fa f(z) = tan z R BaM3/9 B85 I

o Watch Video Solution

15. €9H'8 1 f(z) = sin(z?) enrar ufgsfhs

256, Bd Bar3™d 286 J|



https://dl.doubtnut.com/l/_RQhILM8tPP4j
https://dl.doubtnut.com/l/_Wkn6Lth14We0
https://dl.doubtnut.com/l/_keZNEutl32TT
https://dl.doubtnut.com/l/_1HnOPjCCSksH

l ° Watch Video Solution

16. €8 fa f(z) =1 -z + |z || AT
yfagths @8« f fig x fBa emsfea A J, B

BIM3d SBS I

° Watch Video Solution

17. f(z) = sin(z”) = {Sedfrdas U3 a4

° Watch Video Solution



https://dl.doubtnut.com/l/_1HnOPjCCSksH
https://dl.doubtnut.com/l/_ld050yioDKsz
https://dl.doubtnut.com/l/_cSZhbAdEf92o
https://dl.doubtnut.com/l/_DC4U2iBA904f

18. tan(2z + 3) € 3dtefee U3T IJ|

° Watch Video Solution

19.x © 993 sin(cos (:132)) o7 f3edfiegs ag|

° Watch Video Solution

d
20.7ddz —y=n d—yusTa—a‘l
XI

o Watch Video Solution



https://dl.doubtnut.com/l/_DC4U2iBA904f
https://dl.doubtnut.com/l/_qI4xkMxM3ZfJ
https://dl.doubtnut.com/l/_Wwp1kUloGmdm
https://dl.doubtnut.com/l/_eaLCEdUAsjcm

d
21.7dd y + siny = cos x d—zLBTa%

° Watch Video Solution

22. f(z) = sin~ ! z = f3edfrees y3 ad1 feg
Ha 88 fd fer €t de Ji

o Watch Video Solution

23. f(z) = tan ' z T f3edfeeEs U3t A3 feg
He &6 fd fer €t de J1

| = 1


https://dl.doubtnut.com/l/_eaLCEdUAsjcm
https://dl.doubtnut.com/l/_q3HL6sg66uUj
https://dl.doubtnut.com/l/_1Iz1jxIXKOpK

I &9 Watch Video Solution I

24. <t feg HY J 19 x € A9 EH3fex H'a & Sel

T = 8% J?

o Watch Video Solution

25.x € 993 ¢ ~ ¢ T 3dlefcg U3T I9|

o Watch Video Solution



https://dl.doubtnut.com/l/_1Iz1jxIXKOpK
https://dl.doubtnut.com/l/_lE5FUE6cpWuh
https://dl.doubtnut.com/l/_ySgCWXn3vnVl

26. x © 993 sin(logz), z > 0 € 3dtefce U3

aJ|

o Watch Video Solution

27.x 2 €783 cos ! (e”) T 3dlefee U3t AJ|

o Watch Video Solution

28. x 2 9193 5% g Idtefee y3T 3|

o Watch Video Solution



https://dl.doubtnut.com/l/_BlCkKMPhZha9
https://dl.doubtnut.com/l/_V78K1bzayaOb
https://dl.doubtnut.com/l/_5AoiI4FSCo63

V(z — 3)(z? + 4) NP

29. x © 993
32 +4x + 5

Y3t JJ|

° Watch Video Solution

30.x © 993 ¢° T 3dlefee U3T 94, fig a s us

MIS I

o Watch Video Solution



https://dl.doubtnut.com/l/_5AoiI4FSCo63
https://dl.doubtnut.com/l/_7vXWIujscEMA
https://dl.doubtnut.com/l/_goJi3H0xcp8E

31. x @ 993 5% @1 Jdiefee y3T A9, A fa

z > 0dl

o Watch Video Solution

. d
32.79d y© + 2¥ + 2% = a”érlsTd—yusTa—a*l
xI

o Watch Video Solution

dy

33, A6d = = acosh, y = asin, -

Y3 I3



https://dl.doubtnut.com/l/_u4SlPamPFFMA
https://dl.doubtnut.com/l/_u84qQyNVIxTA
https://dl.doubtnut.com/l/_z8MxHPa9m27p

\ o Watch Video Solution

. d
34.76d ¢ = at?, y = 2at J, 3 d—yuswaél
xIr

° Watch Video Solution

35.7dd z = a(f + sinf),y = a(l — cos ) T,

. d
3t 2z ag
dx

o Watch Video Solution



https://dl.doubtnut.com/l/_z8MxHPa9m27p
https://dl.doubtnut.com/l/_bz6bLOKzm44a
https://dl.doubtnut.com/l/_GJMJ7B0edY6w

. d
36.789 25 + ys = a3 é,s*fd—ywaéw
i

° Watch Video Solution

37.7ad y = z° +tan:z:?r3fd2d U3T a3
LE

o Watch Video Solution

38.7dd y = Asinz + Bceosz J 37 fHa a3 fa

a2 > +y =03l
dz’

o Watch Video Solution



https://dl.doubtnut.com/l/_xa47RI8ZF9tu
https://dl.doubtnut.com/l/_i63N5KzcJdZ7
https://dl.doubtnut.com/l/_V2uBO0JqOYbU

39, Add y = 3ezx + 2’z I 3 fHg ad fa

2 d
d—f —5(—y> + 6y =0
dy dx

o Watch Video Solution

40. A9d y=sin 'z I 3 fig =3 fa

d’x dy
o227 et T
(1 w)dyz :c(dw)—O

° Watch Video Solution



https://dl.doubtnut.com/l/_V2uBO0JqOYbU
https://dl.doubtnut.com/l/_tRuMXT6yETPc
https://dl.doubtnut.com/l/_4aRnXTU6kOan

41,7335 [2,4] © 256 f(z) = = T B HaH®

s e € A )

o Watch Video Solution

42. x © 993 foHs fsu3 T 3dtefes U3 a9 .
/3T + 2+

2r2 4+ 4

o Watch Video Solution



https://dl.doubtnut.com/l/_n5KaBX5V3Drn
https://dl.doubtnut.com/l/_Bc8s84h7oYnr

43. x © 993 foHs fBu3s T 3dkefes U3 a9

2 _
e L 3cos o

o Watch Video Solution

44. x 2 993 foHs f&y3 T 3dlefee U3 ad .

log, (log )

o Watch Video Solution



https://dl.doubtnut.com/l/_zPEcMSj85rXY
https://dl.doubtnut.com/l/_WRtIsQTJtFM2

45, x © 93 foHs 843 v 3dtefes u3™ a9 :

cos ' (sinzx)

o Watch Video Solution

46. x © g93 foHs fou3 T 3dtefes U3 a9 .

tan ! sinx
a
1 1+ cosx

° Watch Video Solution



https://dl.doubtnut.com/l/_GgGZOzlRRK3j
https://dl.doubtnut.com/l/_9D2VswtKVIhm

47. x © 993 foHs fBu3s T 3dkefes U3 a9

o 2.’13+1
Sin
1+ 4"

° Watch Video Solution

L.z =333 f(z) = 22° — 1S Sar3a3 &t

779 dJ|

o Watch Video Solution



https://dl.doubtnut.com/l/_wmtc2NjBqdOt
https://dl.doubtnut.com/l/_rxRQeW7yfsgh
https://dl.doubtnut.com/l/_y9zBIz1oJlV5

2. fd3 e®s < ®ar3g3T < A9 do:

fl@) =z -5

° Watch Video Solution

3. fd3 e®Bs © ®ar3sg3T < A9 d9:

o Watch Video Solution



https://dl.doubtnut.com/l/_y9zBIz1oJlV5
https://dl.doubtnut.com/l/_lRXahQjno4VI

4, fd3 TWBs T SBIM3g3T T A9 do:

r? — 25

f(il?): x_'_57337£_5

o Watch Video Solution

5. if3 E®s © ®BIr3g3T d A9 d9:

flz) =2 —5

o Watch Video Solution



https://dl.doubtnut.com/l/_jx6Dawxd5QLu
https://dl.doubtnut.com/l/_MI3fSTcFXZXO

6. fHO 33 f[d e85 f(z) = 2",z = n, 3 BAM3d

3, €8 n Y g&3HE AHYIS At J1

° Watch Video Solution

<1

i
7°6ﬂf(w):{5 z>1"
g3 @8a f, x=0, x=1 M3 x=2 3 BJI3'I3" J?

o Watch Video Solution



https://dl.doubtnut.com/l/_KY5q1rhKUGv0
https://dl.doubtnut.com/l/_t0nL84v73YzZ

8.f € AT & fagn & U3™ I3, Ae 1d f foHs fsu3
yd'g 3 ysh3 J

—£ x <0
f(z) —{ g

—1 x>0

o Watch Video Solution

9.f 2 A9 &< g § U3 I3, 7 1 f forss fau3
yd'g 3 yshs J
f(a:)—{m+1 x> 1

z? +1 r <1

o Watch Video Solution



https://dl.doubtnut.com/l/_iG2NqZrWbPRT
https://dl.doubtnut.com/l/_dmCkALs4PKfb

+5 <1
1O'Bﬁf(m):{z—5 z>1

oTa" YfgsTi3 255, ffa Bar3d 286 J7?

o Watch Video Solution

11.B& f, T BIr37g3" ¢ fegd ad Add f foHs

fous SIS yfgsas dJ:
2x x <0
4 x> 1

o Watch Video Solution



https://dl.doubtnut.com/l/_5HU3IJl1YR9g
https://dl.doubtnut.com/l/_1V5kPyVUNkPw
https://dl.doubtnut.com/l/_pI6HS2oOZF4Z

12. 28& f, € Bar37d3" © fegd dd Aad f foHs

f&us UG yfasfas J:
—2 r < —1

f(z) =< 2z —1<zx<1
2 r > 1

° Watch Video Solution

13. a M3 b 2 G5 UG & U3T &J g HE

ar + 1 z <3
bx + 3 x> 3

fe) = {

eI Ufd3H3 &5 = 3 & BAr3d J

o Watch Video Solution



https://dl.doubtnut.com/l/_pI6HS2oOZF4Z
https://dl.doubtnut.com/l/_0WXLtZzssf1i
https://dl.doubtnut.com/l/_F4Phjal5xs6N

14. €aA8 fd g(z) = z — [z] ©va" Ufggh3
286 AT HYyds At 3 el J1 88 [z] BH
HJ32Yds f6gfus daer J, 7 x & gargd A x 3 Wi

J

° Watch Video Solution

15. foHs 43 e8s & Bar3a3T 3 fegad aa:

f(xz) = sinz + cosz

o Watch Video Solution



https://dl.doubtnut.com/l/_F4Phjal5xs6N
https://dl.doubtnut.com/l/_G5ZLDBqui3O2
https://dl.doubtnut.com/l/_PM5c5AHNjIrf

16. foHs 843 2@8s Tt Bar3g3 3 fegg d9:

f(x) = sinx — cosx

° Watch Video Solution

17. foHs 843 @8& <t Bar3a3T 3 fegg do:

f(xz) =sinz - cosz

o Watch Video Solution



https://dl.doubtnut.com/l/_PM5c5AHNjIrf
https://dl.doubtnut.com/l/_DPZNUANZA8hq

18. cosine, cosecant, secant "3 cotangent

2%S ©f BIr37a3T 3 fegtg I

° Watch Video Solution

19. f €1 FIM393" €t A9 99, fHE f foHs fBy3 39

ol yfggtas J

{sina}—cosm x #= 0

fl@) =9 _4 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_uESPxZCbXqep
https://dl.doubtnut.com/l/_QfTXJbEdBcbE

20. &3 I° @B fE9 k © & U3 9 37 fd 288
fg3 J¢ fg 3 SIr3g IR

kcoszx ™
x #£ =
f(z) = { o ;
3 r = o5
eg Ufggfis e8s = = %3

° Watch Video Solution

21. fe3 I° T5& €9 k @ S U3T &3 3 fa 288

fg3 J¢ fHg 3 BIr3g I

kx> z <2
3 T > 2

em’dr

~—



https://dl.doubtnut.com/l/_lxBvd6emHPE4
https://dl.doubtnut.com/l/_WLGZXgXdoFyr

[ o Watch Video Solution

22. &3 J¢ @8« fég k & US 3™ ad 3 fd 286
fg3 J¢ fHg 3 BIrsg I

kx + 1 r <

COS T r>Tm

fe) = {

e g Ufggi3 e®s z = 73

o Watch Video Solution

23. &3 J¢ @8« fed k & US 3T ad 3 fd 286
fg3 J¢ fHg 3 BIrsg I


https://dl.doubtnut.com/l/_WLGZXgXdoFyr
https://dl.doubtnut.com/l/_04MzeIc29pSv
https://dl.doubtnut.com/l/_6ul9QuHxZrTU

kx + 1 r <bhH
f(x)_{3a;—5 z > 5

e g Ufggi3 e®sr = 53

o Watch Video Solution

24, T8 1K f(z) = cos(z?) Ta ufgsfhs

256 8 BIr3Tg 286 I

° Watch Video Solution

25. €dA'8 fa f(z) = |cos z| Eva" UlggTi3

256 8 Bar3™d 28& J1


https://dl.doubtnut.com/l/_6ul9QuHxZrTU
https://dl.doubtnut.com/l/_uf9OCztJ7uvf
https://dl.doubtnut.com/l/_kcyBH4Xn99JB

° Watch Video Solution

26. €A fd sin|z| Ena UlgaThis e8a g

BI3d SBS I

o Watch Video Solution

27.x 2 g=3 sin(z” + 5) T 3Stefee U3 &I :

o Watch Video Solution



https://dl.doubtnut.com/l/_kcyBH4Xn99JB
https://dl.doubtnut.com/l/_O8CzNkgYRhAz
https://dl.doubtnut.com/l/_tCnksENrJzC3

28.x € 93 cos(sin z) € 3dlefce USTAJ :

o Watch Video Solution

29. x € g93 sin(ax + b) T 3dlefce UIT A :

o Watch Video Solution

30, x 2 513 sec(tan(,/Z) ) = Sdtfew Uz o3

o Watch Video Solution



https://dl.doubtnut.com/l/_sVWw3IX7n19m
https://dl.doubtnut.com/l/_URGJTbLa65nV
https://dl.doubtnut.com/l/_xmpZ7mpA3ESJ

31.x & €83 cos (,/z) T 3dlefce U3T &I :

o Watch Video Solution

32. fHg CE} f <BS
flx)=lz -1,z € R,z =1 3 {3=JHeas
adt

o Watch Video Solution

. d
33.2z + 3y = sinx fe9 d—ywa-é‘n
xI



https://dl.doubtnut.com/l/_ZBUSCryRL42e
https://dl.doubtnut.com/l/_ieOq3Jf7ijcI
https://dl.doubtnut.com/l/_vEeikCtHMfrQ

\ ° Watch Video Solution

34.2z 4 3y = smyf%_d’ I IBTB!%I

o Watch Video Solution

. d
35.:vy+y2 = tanz + yfeg d—ywa%‘n
T

° Watch Video Solution

. d
36.22 + zy + 32 = 100f€€d—yu31aé‘|
xIr



https://dl.doubtnut.com/l/_vEeikCtHMfrQ
https://dl.doubtnut.com/l/_AuLbAdE0aMNf
https://dl.doubtnut.com/l/_LHp4unBHUr5A
https://dl.doubtnut.com/l/_EhTTQCvoV1vZ

l ° Watch Video Solution

. d
37. ¥ + 2y + 2y’ + 2 =81 f&9 d—i’ Y3

gl

° Watch Video Solution

38.sin’ y + cos zy = kf%g I LBTBFE'II

o Watch Video Solution



https://dl.doubtnut.com/l/_EhTTQCvoV1vZ
https://dl.doubtnut.com/l/_bujTCltDfhII
https://dl.doubtnut.com/l/_ViwAMYeRDjQI

. d
39.sin’z + cos’y = 1 €9 d_y U3T 3|
xZr

° Watch Video Solution

. d
40.y = sin 1 2—= g 2yl
1+ 2 dzr

° Watch Video Solution

41. 'y=tan™(-1)((3x - x"3)/(1-3x"2), -1/sqrt3

° Watch Video Solution



https://dl.doubtnut.com/l/_2ledCHanoHmE
https://dl.doubtnut.com/l/_5YlKxxd1dS2A
https://dl.doubtnut.com/l/_kCxHP6qfte8N

Y3T I |

o Watch Video Solution

43. 'y=sin"(-1)((1 - x"2)/(1+x"2), 0

o Watch Video Solution

44, y=cos”(-1)((2x)/(1+x"2), -1

o Watch Video Solution



https://dl.doubtnut.com/l/_ytSrM3KgUbIC
https://dl.doubtnut.com/l/_qWFqW8uCYor7
https://dl.doubtnut.com/l/_B36dMpRJ2cd7

45, y=sin"(-1)(2x sqrt(1-x"2)), -1/sqrt2

o Watch Video Solution

1 1 4
46. y = sec_l(—),O <z < — f&5
2x2 — 1

V2
dy

%waé‘l


https://dl.doubtnut.com/l/_B36dMpRJ2cd7
https://dl.doubtnut.com/l/_XmTWZfqQZwb0
https://dl.doubtnut.com/l/_jOBllKVIHnxN

Answer:

o Watch Video Solution

eZC

S1InxT

47.x 2 993 T 3dtefeg y3T 99|

o Watch Video Solution

48. x 2 TE3 S @ g1 3fRfee usT I

o Watch Video Solution



https://dl.doubtnut.com/l/_jOBllKVIHnxN
https://dl.doubtnut.com/l/_9jG94RbFzXpI
https://dl.doubtnut.com/l/_aJWdbZ1CHRQp

49.x 2 993 % ~ 3 T Idtefce y3T 33|

o Watch Video Solution

50. x € °'93 sin(tan ‘e *) T 3diefeg U3

a3l

° Watch Video Solution

51. x € 9793 log(cos e”) € 3dtefce U3 IJ|


https://dl.doubtnut.com/l/_aJWdbZ1CHRQp
https://dl.doubtnut.com/l/_n1F7fj9OeHMg
https://dl.doubtnut.com/l/_BQkiQLZFf3ik
https://dl.doubtnut.com/l/_6xyqldQjPAtk

° Watch Video Solution

5. x 2 a3 e“ + e "2+ .... +e¥ "5 @

Sdiefee usT A3

o Watch Video Solution

53.x @ E'H3 1/eV?, z > 0¥ Sdfefeg usT a3

o Watch Video Solution



https://dl.doubtnut.com/l/_6xyqldQjPAtk
https://dl.doubtnut.com/l/_Vm8huHD8yF6l
https://dl.doubtnut.com/l/_yoz35R9ge3PK

54, x € 9793 log(logz), > 1 € 3dtefce U3"

JJl

o Watch Video Solution

55.x © 793 fosm,m > (T 3dlefee y3T I4|
og T

o Watch Video Solution

56. x © §93 cos(logz + €¥) € 3dtefee U3

aJl



https://dl.doubtnut.com/l/_zs88aWAKDzTi
https://dl.doubtnut.com/l/_N1lf3cj8SpvZ
https://dl.doubtnut.com/l/_BtBOWeHVvA2k

\ o Watch Video Solution

57. cos T - cos 2z - cos 3z €7 x 2 g3 Idlefee

Y3T IJ|

o Watch Video Solution

58. Ve - 1) - 2) ¥ x © 993
(z —3)(z — 4)(z — 5)
3dtefee U3t AJ|

o Watch Video Solution



https://dl.doubtnut.com/l/_BtBOWeHVvA2k
https://dl.doubtnut.com/l/_grVrnC50j9xB
https://dl.doubtnut.com/l/_cAwwZ7iEqTab
https://dl.doubtnut.com/l/_K4NP4KhnmzbD

59. (log ) * & x € gg3 3dtefee U3 dJ|

O Watch Video Solution

60. % — 2% g1 x 2 9793 Idlefee u3T I

O Watch Video Solution

6. (z+3)° (z+4)° - (z+5)" o x2gu3

Sdtefee U3 ad|

o Watch Video Solution



https://dl.doubtnut.com/l/_K4NP4KhnmzbD
https://dl.doubtnut.com/l/_T3FE9ezZS7dO
https://dl.doubtnut.com/l/_ShVXD2Dxrjuf

1

62. (:c%—%)m—l—zc(“r?) ¥ x © 93

Sdtefee U3 ad|

o Watch Video Solution

63. (logz)” + 287 & x © g¥3 3dtefee uzr

gl

o Watch Video Solution



https://dl.doubtnut.com/l/_ShVXD2Dxrjuf
https://dl.doubtnut.com/l/_4InFZId9t1QF
https://dl.doubtnut.com/l/_lxYQSbaGdq0P

64. (sinz)® +sin~' \/z T x & g¥3 33tefee
y3T 3|

o Watch Video Solution

65.2°"7 + (sinz)**” T x T g3 3dlefee uz"

gl

o Watch Video Solution



https://dl.doubtnut.com/l/_pvQN3aEXZHw0
https://dl.doubtnut.com/l/_XLfHhRsCKvre

° Watch Video Solution

d
67.—yu3Ta—a*:a;y+yw =1
dx

o Watch Video Solution

d
68—y1-I3T6l% y* =z
dx

o Watch Video Solution



https://dl.doubtnut.com/l/_gI1XsfEXsgjb
https://dl.doubtnut.com/l/_nvNUHM6OrPqC
https://dl.doubtnut.com/l/_d6vtXpqj7lMz

69. — Y37 dJ: (cos z)? = (cosy)”

o Watch Video Solution

d
70. & Y3 dad: gy = e Y
dx

o Watch Video Solution

7. f(z) = 1+ z)(1+2°) (1 +z*) (1 + 2°)

g i3 @86 v Jdiefee u3T ad »3 fen yarg


https://dl.doubtnut.com/l/_d6vtXpqj7lMz
https://dl.doubtnut.com/l/_4ZZt4oFjnkeY
https://dl.doubtnut.com/l/_3dhnOxQTgjU4
https://dl.doubtnut.com/l/_tz9qsGIsj1Sd

£’ (1) Y3 &3

o Watch Video Solution

72. e fsed @ yddr gdd
(z* — 5z + 8) (z° + Tz + 9) & 3Tefee Uz

a3l

o Watch Video Solution

73. Icaes © fersa g foq fas gaue

yus dd (z° — bz +8)(z° + Tz +9) =


https://dl.doubtnut.com/l/_tz9qsGIsj1Sd
https://dl.doubtnut.com/l/_Nrxml7QjN5hr
https://dl.doubtnut.com/l/_s7orX7Prjchg

Jdtefee usT g

o Watch Video Solution

74. BWIIES 3diefee emTaT
(z* — 5z + 8) (z° + Tz + 9) & 3Tefee Uz

a3l

o Watch Video Solution

75.1dd f¥3 Yrs & x M3 y €t Aadlagst g,
fea gr & dofiefaa gu fég wdfus d, 3


https://dl.doubtnut.com/l/_s7orX7Prjchg
https://dl.doubtnut.com/l/_nJxMtkvd24YJ
https://dl.doubtnut.com/l/_gvKT6MvUvM80

donfiest & fo mus B, Y um a3

Wi

r = 2at’, y = at?

° Watch Video Solution

76.H5d fd3 YHs & x M3 y € Aftagst gy,

fiz =3 2 dfichm qu g rdRE T 5
dnfert § fet TS A3, L w

x = acosf,y = bcosb

o Watch Video Solution



https://dl.doubtnut.com/l/_gvKT6MvUvM80
https://dl.doubtnut.com/l/_qbXzy6Ml3Iyq

77.79d9 &3 yus @ x m3 y &inff mlaagst gnrar,

frg o @ donfiefm gu 9 A e, 3
dovfiest & s B3 B, Y wr a3 -

dzx

x = sint,y = cos 2t

o Watch Video Solution

78. 154 &3 yaa € x »i3 y € Adlagst vy,

e e @ donfiefda gu fe Hdfms 9, 3

ﬂwﬁaa*éﬁﬁfwaﬂ%,j—zwaé:



https://dl.doubtnut.com/l/_wxc8u0Kc0nMM
https://dl.doubtnut.com/l/_1mcmAcJVzb7E

| ' Watch Video Solution |

79. 739 &3 yaa € x »3 y € Aiage v,
frg o @ donfiefia gu 9 A e, 3
donfies & fas Bus 3 ;l—z = a

x = cosf — cos 20,y = sinf — sin 20

o Watch Video Solution

80. Add &3 yua & x 3 y &fi metdast gmrar,
ffg gn @ dgndtefga gu fég Hefas d<, 3


https://dl.doubtnut.com/l/_1mcmAcJVzb7E
https://dl.doubtnut.com/l/_ShDEUqr55puu
https://dl.doubtnut.com/l/_lA6eLZ75pQsW

donfiest & fo mus B, Y um a3

Wi

logtant ,
T =a cost—l—T Yy = asint

° Watch Video Solution

81. 734 €3 Yua € x w3 y &inf midast gmrar,

s 2 @ donfiefis gu R Wefos 3, 3

doniert & Rt e AR, SL u W s

r = a(f — sinf), y = a(1 + cos )

o Watch Video Solution



https://dl.doubtnut.com/l/_lA6eLZ75pQsW
https://dl.doubtnut.com/l/_lXB922FNQdZb

82. Had &3 Yyras & x M3 y €l mHidast gy,

frg o @ donfiefm gu 9 A e, 3
dovfiest & s B3 B, Y wr a3 -

dzx

x = asecl,y = btanb

o Watch Video Solution

83. /a4 €3 Yus € x w3 y &inff midast gmrar,

e e @ donfiefda gu fe Hdfms 9, 3

ﬂanﬂaa*isﬁ?s'rgusaﬂé,j—zwaé:

z = a(cos @ + sinf), y = a(sinf — 6 cos )

| & ]


https://dl.doubtnut.com/l/_h8F2yvUS26yT
https://dl.doubtnut.com/l/_aJdo20EaJDZn

| ' Watch Video Solution |

84.7dd z = 1/a™ t y=+/a* 3 EINE
m_ Y

d:r T

° Watch Video Solution

85. fd3 J¢ 286 € g g € Jdiefee U3t dd :

2 + 3z + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_aJdo20EaJDZn
https://dl.doubtnut.com/l/_0pfpdWUP79sr
https://dl.doubtnut.com/l/_t0gdnwiBTzki
https://dl.doubtnut.com/l/_mMPBL8ZRI2qY

86. 1S3 J2 2B € T gH € 3dtefer usTad : 20

o Watch Video Solution

87. fd3 J¢ 285 € ga gy € Sdiefee U3 J

L - COST

° Watch Video Solution

88. fd3 J¢ =85 € g g € Jdiefee U3 dd :

logx

[ o Watch Video Solution


https://dl.doubtnut.com/l/_mMPBL8ZRI2qY
https://dl.doubtnut.com/l/_mrZstFz46cNz
https://dl.doubtnut.com/l/_I84BeP1BZw1p

89. &3 J¢ 8% € TH gH € Jdlefee u3T d

2> log =

° Watch Video Solution

90. f&3 J¢ 8% € gd gH & Jdlefee U3 a4 :

e’ sin bx

o Watch Video Solution



https://dl.doubtnut.com/l/_I84BeP1BZw1p
https://dl.doubtnut.com/l/_i6W0JScEZHF5
https://dl.doubtnut.com/l/_siGmZLYKrxB4

91. fd3 J¢ 2B& € g gH & 3diefee U3 &J :

ebz cos 3z

o Watch Video Solution

92. f&3 J¢ 8% € gd gH € Jdlefee U3 d

ta,n_la:

o Watch Video Solution



https://dl.doubtnut.com/l/_SJvgGlSyWB2N
https://dl.doubtnut.com/l/_QNozpX8RT07W

93. &3 J¢ 8% € gH gH € Jdlefee u3T d

log(log x)

o Watch Video Solution

94, fe3 J¢ 286 € g FH & 3diefee 3T 3d

sin(logx)

o Watch Video Solution



https://dl.doubtnut.com/l/_UQ7G2aTnmtu4
https://dl.doubtnut.com/l/_Njv5hlNmtp4i

95. 7dd y = Hcosz — 3sinz I 37 fHg a3 fa

o Watch Video Solution

96.7dd y = cos 'z T 3 (dzi) S8y

dz?

T Yyt fég u3T a3

o Watch Video Solution



https://dl.doubtnut.com/l/_SpUaWcChz8L9
https://dl.doubtnut.com/l/_ZUCLceYFeO31

97. H3d y = 3cos(logz) + 4sin(logz) I 3F

W@ﬁxzyz—l—xyl +y=20

o Watch Video Solution

98. Aad y = Ae™z + Be"x J 3T vau 8 fd

d? dy
(ﬁ) - (m+n)% + mny =0

° Watch Video Solution



https://dl.doubtnut.com/l/_lHR2J2aWbGJe
https://dl.doubtnut.com/l/_d1l01Iqcs7w0

99,753 y = 500e’x + 600e ~ "z J 3t TIAE fa

(d2d—y2) — 49y 31
i

o Watch Video Solution

100. Add eY(z +1) =1 J 37 wIHE fd

(r5) - (&) @

o Watch Video Solution



https://dl.doubtnut.com/l/_sVmp3a4hWUIA
https://dl.doubtnut.com/l/_jaG2HsHVxDF0

101. #8F y = (tan 'z)° 3 3 wIHG fx

(22 +1)°ys + 22 (22 + 1)y = 23

o Watch Video Solution

102.356 f(z) =2° +2z — 8,z € [ —4,2]©

et 98 & yiw & A 591

o Watch Video Solution



https://dl.doubtnut.com/l/_OUS8K8dm1ZyU
https://dl.doubtnut.com/l/_iTcpR4ijiOpZ

103. Hic dd fa I8 € Yy foHs 18u3 28 3
81 Jget J1 fegs’ @ergast 3 &t 3HT I8 dtytu &
8%c 99 g3 &fd Aae J? f(z) = [z] € B¢

x €[5, 9]

o Watch Video Solution

104. A gJ fa I8 &t Yy fors f8u3 a8 3
81 Jel J1 fegs’ @ergaet 3 &t 3HT I8 €t yHu &
8%<c g9 g3 afd Aae I? f(z) = [z] € s

r €| —22

| & I


https://dl.doubtnut.com/l/_CUlnVdU3bUyq
https://dl.doubtnut.com/l/_GSfkmcKmBRlX

| ¥ Watch Video Solution |

105. Hic dd {3 I8 € Yy foHs 18u3 28 3
81 gt J1 fegs’ @ergast 3 &t 3HT I8 dtytu @
85c §9 33 Afg Aae J? f(z) = z° — 12 B

z € [1, 2]

o Watch Video Solution

106.75d f: [ — 5, 5] — R f¥a {3edfiees e85
I3 Add f'(x) for & fig 3 /id &df Jer I 3
fRaadfa f( - 5) # £(5)


https://dl.doubtnut.com/l/_GSfkmcKmBRlX
https://dl.doubtnut.com/l/_qISHeA9X43mH
https://dl.doubtnut.com/l/_Swgi6fZ3yYXn

° Watch Video Solution

107. HOH™ H& YHd € A9 &, Hdd W3dS [a,b]

&9 f(z) = 2 — 4z — 3,Bd a=1"3 b =4 T

o Watch Video Solution

108. fE3 J° B& T x © 993 3dlefee 3™ 99 ;

sin_l(:c\/i), 0<z<1

° Watch Video Solution



https://dl.doubtnut.com/l/_Swgi6fZ3yYXn
https://dl.doubtnut.com/l/_HDTt8WJvdid6
https://dl.doubtnut.com/l/_VgbGLv8Pvu4e
https://dl.doubtnut.com/l/_56h0E4leeN9l

109. #dd y = 12(1 — cost), z = 10(¢t — sint),

s T dy
(—§<t<§) BTd—LBTa%I

o Watch Video Solution

10. GEE)
y=sin 'z +sinty/1-20<z<1 3

d
J mrad
dz

o Watch Video Solution



https://dl.doubtnut.com/l/_56h0E4leeN9l
https://dl.doubtnut.com/l/_laWIPhOFI2gX

111. 9IfE3d WA & THO3 & Yuar gnar, tHg ad
fa A9 us Hyds HimEr n @ e

dm— — nz" L3
dzx

o Watch Video Solution

f(z) g(z) h(z)
M.Adady=| 1 m n |J3Hgad
a b c
@) @) b

Yy
fa = = [ m n

dx
a b C

o Watch Video Solution



https://dl.doubtnut.com/l/_bbWmBRkOOVJX
https://dl.doubtnut.com/l/_2tU6Oighrgfs




